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What is ﬁscal pohcy'7

Answer ALL questlons

PAR'I‘ A— (IO x 2= 20 marks)

' Defme Normatlve Economms Gwe an example A

Defme Advertlsmg Elast1<:1ty

: Recall the meamng of Producer Surplus

' What do you understand by the term consumer behavmr" . R
' _': .Deﬁne Isoquants G:we an example | L

o What is ‘the Least Cost Combmatlon of Inputs‘? _

'._:erte the components that made up for Natmnal Income o
'-"'Defme NNP. |

s Recaﬂ the meanmg of Monetary Pohcy

PART B— (5 x (13=65 marks)

(a_). ) _' Show the key &ifferences between Macro arid Midrq _ECoriémiCé-.' ()

:f._- _"(ii)': Discuss the various methods of measurement Of.'El'as'tiCity of -
. Demand. . - o (10) -

g _.0].:. _

: i:_'. (B)_ Explam the Demand schedule demand curve and demand functmn Wlth _- _




13,

14

16

()

)
@
()

| )

(@)

. on his money., From an analysis of recent cost figures he ﬁnds that his o
~ variable. cost of ‘operating’ is 60%  of sales; his fixed:: cost's-- are -

H1ghl1ght the consumers equilibrium, effects of a price change and
{ncome and Substitution effects with an example L oy (13)

Or i

‘What are Price 'ce'1lin'gs' and Price Floors? How will you- :e.}.cplam the . |
budget constraints and Indlfference Curve'? Show the (ienvatwn of aw .
Demand(‘urve SRRV NP AR S o 13y .

Descnbe short -run and long run cost curves Wltl‘}. an example (13)
What isﬁ.PredﬁEti'oe 'fu'ﬁetioﬁ?_ Explain the equilibrium of firm under = -
perfect competition and Monopolistic Competition. . - 0 13y -
Explain’ the various term used in National Income and also the .
Keynesian model of Income Determination with an example:.-_' i {13y
Wmte short notes for the followmg o . e
(i) Exports and Imports - - T - (5)
. (@)  Demand for Money Transaction anfl Speculatwe Demand S®
(i) Supply of Money and Banks Credit. T @
Dlscuss in detail the role of central bank and the Government '_ - (13) -
Fxplam the Two phase busmess cycle w1th an example SRS Ly o

PART C —(Ix15= 15 marks)

Mr X has i Rs 1 50, 000 1nvestment in a busmess He wants a 15% return_"- .

" Re. 7 5000/year Show supportmg computatmns for ‘each answer

: (i)'f What sales Volume must be obtamed to break even‘? - .(5) . L

@’ What sales volume must be obtamed to get h1s 15% return on

®

: 1nvestment” ST e e - B

(n) CMr X estimates that even 1f he closed the doors of his busmess the. -

~ would incur Rs 25,000 expenses per year. At what sales would he be -

" better off by locking his sales up” R R I SR S (5) N

From the follo‘véihg information caleulate @) P/V Ratio (i) Sales Requlr:eﬂ- U

to earn a profit of Rs. 20,000, (iii) Profit when sales are Rs. 60,000. j
L (BHBHE)

" Year Sales(Rs) Profit (Rs.)
2021 - 70,000_ i 7,5(_)0-_.

2022 80,000 10,000

2 50945




